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& 3-3-1(1) EREBHEOEH

[E3E] 25 H 3EH 1EH 5% H 6% 8 TEH 8EH 9%EH 0% H [RE:3=

5 T I & A BREH/A| REB/E |BRRAB/A| REWE |BRREH/A| REW/E |BRXAR/A| REE |BRRXAN/A| REW/E |BRRABV/A| REE |BRAH/A| REW/E |RXAB/A| BEE |BRRAN/A| REWE |BRRXAB/A| REVE |BRRXEH/A| REVE
HL—EBHESYS 4t7E2 Ot 23 212 46 460 46 552 46 391 23 276 23 253 0 0 4 4 0 0 0 0 0 0
EAHA—GL—F Am 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O0—~Fo—5 0~12t 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A{ra—5 ~20t 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FARIFZIVET4=vT % 4~6m 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20—5—9L—> 5t 21 21 0 0 0 0 0 0 0 0 0 0 0 0 14 14 0 0 0 0 0 0
FULSvoR A — IR 37— L 2SR YR IR HE 150ciBR 46 184 46 552 46 552 23 276 23 276 23 253 0 0 0 0 0 0 0 0 0 0
R D vk A= 2T— L IR YPRUTSEE 150keiBik 23 46 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
XEIL—H 1,300kg 46 230 46 552 46 552 23 276 23 276 23 253 0 0 4 4 0 0 0 0 0 0
K555 3R )L 1.5m® 23 46 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
=l 3.0m° 46 184 46 552 46 552 23 276 23 276 23 253 0 0 0 0 0 0 0 0 0 0
1R, XBT  [SvoEky 0.8m° 46 184 46 552 46 552 23 276 23 276 23 253 0 0 0 0 0 0 0 0 0 0
T TRS9G 10t 69 138 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T TRS9T 23t 92 92 92 1104 92 1104 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
avTRERE 20m* 69 483 69 828 69 828 69 828 69 828 69 759 0 0 0 0 0 0 0 0 0 0
SITL—2OL— 25t 2 3 0 0 0 0 0 0 0 0 1 1 0 0 0 0 0 0 0 0 0 0
E I 8~22m° 46 230 46 552 46 552 23 276 23 276 23 253 0 0 0 0 0 0 0 0 0 0
rSvosFY 4.4m° 115 483 115 1150 115 1288 69 828 69 690 69 759 0 0 0 0 0 0 0 0 0 0
NyFr—T5 Uk 5m’/h 46 230 46 552 46 552 23 276 23 276 23 253 0 0 0 0 0 0 0 0 0 0
ELFIEABEE t(F5v%) 46 230 46 552 46 552 23 276 23 276 23 253 0 0 0 0 0 0 0 0 0 0
Oy oR)LMERRE t(F5v7) 46 230 46 552 46 552 23 276 23 276 23 253 0 0 0 0 0 0 0 0 0 0
SITL—2OL—Y 6t 23 219 46 460 46 552 46 391 23 276 23 236 0 0 0 0 0 0 0 0 0 0
INvHERY 0.45m° 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4 0 0 0 0 0 0
vy —hRUTE 45m°/h 0 0 0 0 24 180 24 168 12 144 12 144 12 12 0 0 0 0 0 0 0 0
SITL—2OL—> 16t 0 0 0 0 10 20 6 6 0 0 23 23 29 29 0 0 0 0 0 0 0 0
NGk 0.4m® 0 0 0 0 0 0 0 0 0 0 0 0 3 3 0 0 0 0 0 0 0 0
EHO— 08~1.1t 0 0 0 0 0 0 0 0 0 0 0 0 3 3 0 0 0 0 0 0 0 0
[ EPAVE] 50~ 60kg 0 0 0 0 0 0 0 0 0 0 0 0 2 2 0 0 0 0 0 0 0 0
2T aVH—hRUTHE 90~110m°/h 0 0 0 0 0 0 0 0 0 0 0 0 2 2 0 0 0 0 0 0 0 0
AR | 3ERSHI a9 —hRi 0.8~1.2m%h 0 0 0 0 0 0 0 0 0 0 0 0 5 5 0 0 0 0 0 0 0 0
(FEEO) | (NATM) FSvHoL—> 6t 0 0 0 0 0 0 0 0 0 0 0 0 3 3 0 0 0 0 0 0 0 0
SITL—OL— 5t 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 0 0 0 0 0 0
IR 0~100kg 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 0 0 0 0 0 0
IL—LEBHRSYY 4t7E2 9t 0 0 0 0 0 0 0 0 0 0 23 23 23 23 0 0 0 0 0 0 0 0
AEITL—H 1,300kg 23 115 46 414 23 138 0 0 23 161 0 0 0 0 0 0 0 0 0 0 0 0
Ny 0.45m° 23 115 46 414 23 138 0 0 23 161 0 0 0 0 0 0 0 0 0 0 0 0
3AVN—FI [ FFRERE 20m* 46 230 92 828 46 276 0 0 46 322 0 0 0 0 0 0 0 0 0 0 0 0
S77L—2OL—> 16t 1 1 1 4 1 3 0 0 1 2 0 0 0 0 0 0 0 0 0 0 0 0
S77L—OL—> 25t 7 7 7 22 7 15 0 0 7 11 0 0 0 0 0 0 0 0 0 0 0 0
AFYRET [Ny oERY 1.6m° 46 230 46 552 46 552 23 276 23 276 23 253 0 0 0 0 0 0 0 0 0 0
avy)—hRUTE 90~110m’/h 0 0 0 0 0 0 0 0 0 0 0 0 58 696 58 58 0 0 0 0 0 0
5 PREET S77L—2OL— 25t 0 0 0 0 0 0 0 0 0 0 0 0 0 40 0 0 0 0 0 0 0 0
S77L—2OL—> 16t 0 0 0 0 0 0 0 0 0 0 0 0 3 76 3 0 0 0 0 0 0
IL—EBHESYD 4t7E2 9t 0 0 0 0 0 0 0 0 0 0 0 0 3 76 3 0 0 0 0 0 0
PIREHIL—> t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 396 0 0 0 0 0 0
st - S77L—=OL— Ot 0 0 0 0 0 0 0 0 0 0 0 0 0 0 8 12 0 0 0 0 0 0
B AR ARET S77L—2L—> t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 8 12 0 0 0 0 0 0
HARITAZRHE t(F5v2) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 44 396 0 0 0 0 0 0
S77L—2L— t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 44 22 0 0 0 0
S77L—OL— Ot 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 44 22 0 0 0 0
oL—> 4.9t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 44 22 0 0 0 0
EFEEE Tm 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 44 22 0 0 0 0
RFAE(ZOLEMERE) t(F59%) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 24 4 48 4 24 0 0
f%?ﬁﬁ;(ﬁ#ﬁ 55 B1) t(F59%) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 132 22 264 22 132 0 0
= skt = ESaEACN;)) t(F5v%) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 9 54 9 108 9 54 0 0
7 BRBHEGET S27L—OL—2 400t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 16 4 6 80 0 0 0 0
S77L—OL— t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 1 2 116 0 0 0 0
7= LIERRE t(F5972) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 16 4 6 0 0 0 0 0
FONEHEEE t(F5v9) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 g 0 0 0 0
RTHE (BHH) t(F5v9) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 66 154 1276 6 198 0 0
NEIES T RS t(F5v%) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 8 8 2 42 0 0
PIERENR S t(F592) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 30 0 0
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BEBEOEH

[E3E] 2ZEH 3EH 4EH 5% H 6% H TEH 8 H 9%EH 0% H &R

5 I i AR BABH/A| REB/E |BRRER/A| REWE |BREE/A| REWE |BRREB/A| BRER/E [RRXEH/A| REBV/EF |RASH/A| RER/E |BXER/A| KEM/E |BREE/A| REWE |RREB/A| RER/EF [RXEH/A| RERV/EF |RXEH/A| RER/E
BHNAIONT 60kW 10 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
TUE—F 3thR 1 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ALY O—5 8~ 15t 1 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
INwhRY 0.8m° 1 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1EBRT 70—S—FL—> 50t 50 230 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SITL—2OL—> 16t 10 90 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SITL—2OL—> 25t 48 476 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
avy)—hRUTE 90~110m°/h 6 54 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FS5v o GERINER) 4t 44 484 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BERX/NNATONUT 60kw 4 16 7 7 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
H0—5—FL—> 50~ 55t 4 16 34 34 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SITL—2IL—> 25t 58 232 74 836 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 FHT 1Ny 25t 5 20 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
| avy)—hRUTE 90~110m’/h 6 24 4 44 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
EEHO—> 08~1.1t 4 16 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
LI 60~ 70kg 9 36 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
F5v 0 GER/NER) 4t 0 0 44 528 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SOTL—=IL—> 45t 0 0 38 152 38 418 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
3 LET SOTL—IL— 25t 0 0 10 40 32 352 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
| avy)—rRUTE 90~110m°/h 0 0 6 24 6 66 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
rS5v 5 CER/NER) 4t 0 0 0 0 44 484 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
/a—5—5IL—> 100t 0 0 0 0 22 22 22 220 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BitX 32t (F5v%) 0 0 0 0 22 22 22 220 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BRZ) 4 7—REHT 35t 0 0 0 0 3 3 3 30 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E5v 0 (5 RINER) 4t 0 0 0 0 44 44 44 440 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SOTL—oL—y 25t 0 0 0 0 22 22 22 220 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A—NTFL—HL— 220t 0 0 0 0 0 0 22 44 0 0 0 0 0 0 0 0 0 0 0 0 0 0
377‘—11—’/”9&—‘/ 50t 0 0 0 0 0 0 2 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0
- ok sz |[BARDTAZEER 32t (;5v2) 0 0 0 0 0 0 22 44 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SHAR I ARET IS oy eA 0 0 0 0 0 0 0 1 2 0 0 0 0 0 0 0 0 0 0 0 0
F5v 5 GER/NERD 4t 0 0 0 0 0 0 44 88 44 88 0 0 0 0 0 0 0 0 0 0 0 0
SITL—2OL—> 5t 0 0 0 0 0 0 22 44 22 44 0 0 0 0 0 0 0 0 0 0 0 0
RFAE(FVPEBERE) 2t ( 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 2 0 0 0 0 0 0
S E AGE I EED) 2t ( 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 6 0 0 0 0 0 0
RFAECGLA) 32t( 0 0 0 0 0 0 0 0 0 0 0 0 0 0 9 7 0 0 0 0 0 0
SITL—IL—> Ot 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 9 18 9 9 0 0
SOTL—HL—> 5t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 25 0 0
SOTL—hL—> 6t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 22 4 32 0 0
FSvooL—2 Ot 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 40 0 0
6 EREMERGT [Z2—2"7t t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 8 19 0 0
NyIEY 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12 34 12 17 0 0
SITL—IL—> 0 0 0 0 0 0 0 0 0 0 0 0 0 0 16 32 0 0 0 0 0 0
=DV IELRE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 16 32 0 0 0 0 0 0
TONEBER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 44 44 0 0 0 0 0 0
“FHE (BHA) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 66 308 44 44 0 0 0 0
NER TSR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 6 0 0 0 0
HERMAES 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 88 264 0 0 0 0
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® 3-3-13) ERBHEOEH

1&5H 2% H REE] 4FH 5%H 6 H 1EH 8% H 9FH 105 H 11EH

5 I & R RABH/A| REWE [EXEWA| REIVE |BRE/A| REVE |BREEV/A| BRER/EF |BRXER/A| REM/E [BXEHA| REIE |BRE/A| REVE |BREE/A| BREH/EF |BRRXER/A| REW/E [BXER/A| REWE |BRRXER/A| RERVE
IL—VRBHFSVY 417529t/ 23 74 23 276 23 276 23 276 0 0 4 4 0 0 0 0 0 0 0 0 0 0
E—5—JL—% 31m 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O—Fo—5 10~12t 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
AA¥Y0—5 8~20t 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FAI7INT4=vix 2.4~6m 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
INvhERY 0.8m® 21 147 23 161 23 276 23 276 0 0 0 0 0 0 0 0 0 0 0 0 0 0
JILF—HF 3tiR 18 126 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FJLS iR RA— LR 37— L2\ R FRU I 5H R (50kaaR 0 0 2 16 23 276 23 276 0 0 0 0 0 0 0 0 0 0 0 0 0 0
RISy RA—ILat- 20— L 1SR yRRUDREE 150kgiEHR 23 69 2 11 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
KXETL—Ah 1,300kg 23 69 2 27 23 276 23 276 0 0 4 4 0 0 0 0 0 0 0 0 0 0
N e 1.5m® 23 69 23 115 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
VIREL XRT [Rrn—% om’ 0 0 23 161 23 276 23 276 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T TRS9D Ot 69 207 69 345 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
HTRS9D 3t 0 0 138 966 138 1656 138 1656 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SI7L—OL—Y 5t 1 1 2 . 0 0 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
eI 8~22m° 23 69 23 276 23 276 23 276 0 0 0 0 0 0 0 0 0 0 0 0 0 0
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P STy 0t 92 557 %2 578 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Eri ST 3t 0 0 95 285 95 7139 94 Tiz8 9 Tiz8 0 0 0 0 0 0 0
So7L=—25L—2 5t [ i 2 2 0 0 0 0 i i 0 0 0 0 0 0 0 0 0 0 0 0
eI 8~22m’ 23 138 23 264 19 228 19 228 19 723 0 0 0 0 0 0 0 0 0 0 0 0
FSuosEy e 46 276 57 585 57 684 57 581 56 572 0 0 0 0 0 0 0 0 0 0 0 0
RoFr—T52 5m’/h 23 138 23 264 19 228 19 228 19 223 0 0 0 0 0 0 0 0 0 0 0 0
t(F595) 73 38 73 54 7 7 5 773 0 0 0 0 0 0 0 0
5y D) 23 38 23 64 22 22 9 223 0 0 0 0 0 0 0 0
Bt 23 50 23 76 27 27 0 283 0 0 0 0 0 0 0 0
0.450° 0 0 0 0 0 0 0 0 0 0 0 0 4 4 0 0 0 0 0 0 0 0
ALY — R TR 45m’/h 0 0 0 0 0 0 12 72 12 124 12 24 0 0 0 0 0 0 0 0 0 0
2 BT So7L—25L—2 16t 0 0 0 0 0 0 10 10 0 0 79 52 0 0 0 0 0 0 0 0 0 0
IL—EBHISYE 4R29U8 0 0 0 0 0 0 0 0 0 0 23 46 0 0 0 0 0 0 0 0 0 0
SFURBL  |\vbhY Lom’ 23 138 23 276 23 276 23 276 23 276 0 0 0 0 0 0 0 0 0 0 0 0
IR TR o~110m/h 0 0 0 0 0 0 0 0 0 0 29 261 0 0 0 0 0 0 0 0 0 0
" SoFL—ohl—> 25¢ 0 0 0 0 0 0 0 0 0 0 0 %0 0 0 0 0 0 0 0 0 0 0
(;OF%E) (;hf,f’if'wj) SHET  Zorpeoir—~ 6t 0 0 0 0 0 0 0 0 0 0 207 0 0 0 0 0 0 0 0 0
S EE{AISYE 43R29U8 0 0 0 0 0 0 0 0 0 207 0 0 0 0 0 0 0 0
[FAEZL— t 0 0 0 0 0 0 0 0 0 44 27 88 0 0 0 0 0 0
N ] ot 0 0 0 0 0 4 3 4 3 0 0 0
O AARTTARBTSSF 70 —C 5t 0 0 0 0 0 0 0 0 0 ) 3 7} 2 0 0 0 0 0 0
BT E T T %595 0 0 0 0 72 ) 72 88 0 0 0 0
>3 L—— 5t 0 0 0 0 0 0 0 0 0 0 0 0 i 367 12 50 0 0 0 0 0 0
L— ot 0 0 0 0 0 0 0 0 0 0 0 0 10 10 0 0 0 0 0 0 0 0
L— 60¢ 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0
L=y 6t 0 0 0 0 0 0 0 0 0 0 0 0 3 3 6 7 15 2 26 0 0
r— T G B | ¢ 2.000mm 0 0 0 0 0 0 0 0 0 0 0 0 44 732 0 0 0 0 0 0 0 0
L= 90t 0 0 0 0 0 0 0 0 0 0 0 0 4 132 0 0 0 0 0 0 0 0
20t 0 0 0 0 0 0 0 0 0 0 0 0 5 %5 0 0 0 0 0 0 0 0
Ao — Ao TR 115~ 125m*/h 0 0 0 0 0 0 0 0 0 0 0 0 14 78 0 0 0 0 0 0 0 0
Nobtm 08 0 0 0 0 0 0 0 0 0 0 0 0 48 9% 0 0 0 0 0 0 0 0
TE—5—HL—¥ 80t 0 0 0 0 0 0 0 0 0 0 0 0 75 81 0 0 0 0 0 0 0 0
SoFL——T 60t 0 0 0 0 0 0 0 0 0 0 0 0 23 23 0 0 0 0 0 0 0 0
VR O 1 D VP L 90~110m'/h 0 0 0 0 0 0 0 0 0 0 0 0 6 24 6 2 0 0 0 0 0 0
NohD 0.25m° 0 0 0 0 0 0 0 0 0 0 0 0 8 32 B 5 0 0 0 0 0 0
A o> 8~ 20t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 7 P 0 0 0 0 0 0
R 0,08’ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [} 2 0 0 0 0 0 0
P ETEEACHIS 3 ED) ST) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 7 7 73 7 0 0 0 0
= Ehis) (SD) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 77 132 22 7 0 0 0 0
SFAE UA) D)) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 9 54 9 9 0 0 0 0
S9FL—"hl—> 400t 0 0 0 0 0 0 0 0 15 54 0 0 0
=D LERE 0 0 0 0 0 0 0 16 &4 0 0 0
VIS 0 0 0 0 0 0 0 0 0 ) a4 0
%’7 ) 0 0 0 0 0 0 0 56 720 56 762 0
NS T B 0 0 0 0 0 0 2 2 3 26 2 6
GERAEEE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10 20
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= 3-4-1(1) EWHMDETEH
5 [EE] 29 B 3%H 4% H 5% 5 65 B 1% 8 84 H 945 H [[EFE] 11458
BREH/A| REWE [BXER/A| RER/E | BXER/ A BER/E |BXEHA| KER/E |BREH/A| REWE |BRER/A| BEW/E |BRERA| BEe/E |BREYEA | BE/E [BRER/A| REWE |BXER/A| RaW/E |[BXER/A] Rel/E
(;ﬁﬁ%) ITERER 3,398 15,630 4,348 46,506 5,251 59,333 2,984 32,269 2,895 29,215 2,650 29,321 1,306 11,601 930 3619 162 622 17 92 0 0
B Ik B & i 3,398 15,630 4,348 46,506 5251 59,333 2,984 32,269 2.895 29,215 2,650 29,321 1,306 11,601 930 3,619 162 622 17 92 0 0
18R 15 H 2% H REE] PEdE] 548 658 ] 8% H LEE] 105 B 1158
BRER/A| REWE [BXER/A| RER/E |BAEHA| RER/E |BRAESH/A| RER/E |RREH/A| BEW/E |BREWA| REWE |BRER/A| RE/E [BRER/A| REWE [BXERA| RER/E | BAEHR/A| RER/E |BRAESHA| RER/E
Bl EHE 0 0 1 1 1 0 0 0 0 0 1 1 10 10 0
&R IERER 734 5011 33 2,922 84 2,118 249 888 9 18 0 28 219 1 422 1 208 0
E Tk = B & o 734 5011 330 2,922 184 2,118 249 1,888 90 180 0 0 0 0 128 219 110 422 110 208 0 0
5T [EE] 29 B 3%H 4% H 5% B 65 B 1% H 84 H 95 H 104 H 11458
AEH/A | BEHE |RRER/A| RENE | BREH/A | KEW/E [RXEH/A | REV/E |RREH/A | RER/E | SREH/A | LE8/E |[RRXEH/A | REIVE | BRREH/A | RER/EF | SAEBV/A | KE8/E |RRER/A| RENE |BRREB/A | REeEl/E
CHIX TERER 1,015 2,656 2,230 20,700 2,598 27,143 3,117 28,455 842 4562 151 284 13 78 128 233 2 18 0 0 0 0
(FEER) ' ' ’ ' ' ' ' ’ ’
E R Em & 3 1,015 2,656 2,230 20,700 2,598 27,143 3117 28,455 842 4562 151 284 13 78 128 233 2 18 0 0 0 0
B 145 H 2% H REE] P 588 658 ESE] 8% H LEE] 1058 1158
BRER/A| REWE [BXER/A| RER/E | BXER/A| RER/E | BRASHA| RER/E | BRAEH/A| KREH/E | RAEH/A| BEW/E |BRER/A| BEWE |BREWA | REW/E |BRER/B| REWE | BXER/A| REWE [ BXER/A| RER/E
DX =mE 0 0
(WEhv#g) | TEAEE 2,763 14,095 2,598 27,836 2,584 31,008 2,614 14,382 470 2,074 0 0 0 0 161 324 130 209 2 10
DX
D) IERER 770 5,875 448 3,229 231 1,852 249 429 0 0 0 0 0 0 128 219 110 422 110 208 0 0
& Ed & & 3,533 19,970 3,046 31,065 2,815 32,860 2,863 14,811 470 2,074 0 0 0 0 289 543 240 631 112 218 0 0
EA 158 29 8 3%H 4% H 5% 5 645 B ] 84E H 95 H 104 H 11458
BRER/A| REWE |BRER/A| RER/E |BXER/A| RER/E | BAESH/A| RER/E | BRXEH/A | REH/E | BRREH/A | RER/EFE | BRES/A| REM/E |BRES/A | BE/E | BREB/A| KEWE |BXER/A| REWE |BXER/A| RER/E
(3?’2?%) IERER 1,038 7,153 4,391 36,526 4,759 54,122 4,052 34,989 2,182 23,138 2,176 20,977 490 3177 45 206 130 261 1 5 0 0
E#1[X EEE 1
(EERR) IERER 2,002 12,671 1,069 12,828 1,069 12,828 1,069 12,828 1,073 9,579 900 2,433 37 291 4 358 23 129 0 0 0 0
E W = B & & 3,040 19,824 5460 49,354 5828 66,950 5121 473817 3,255 32,717 3,076 23,410 527 3,468 86 564 153 390 [ 5 0 0
B %8 2% H 3%H =] 5% H 6% H 1%H 8% H 9% H 1058 1158
BRER/A| BEWE |BRER/A| RER/E |BAEBR/A| RER/E |BXEH/A | RER/E |BRREH/A | REH/E |BREW/A| RE/E |BREB/A| BE/E | BREB/A| REE [BRER/A| RER/E |BRAER/A| REB/E | BXEHA | REelk/E
TEREHAE) 1,708 17,445 2,094 21,980 1,720 18,543 2,005 14,377 735 5,101 333 2,614 360 3,004 497 3,158 263 2,743 37 222 0 0
Fih X
(th EBR)
IEAEmGL 817 4,884 1,339 13,204 1,293 13,553 830 7,423 548 5,796 403 4,046 282 1,068 0 0 0 0 0 0 0 0
ITERERmE) 2,674 14,381 1,204 7,548 426 3,282 401 2,386 27 162 27 324 142 313 142 1,312 272 1,350 2 4 0 0
Fith X
(H2E48)
IEMEmGL 1,609 8573 985 6,360 455 2,542 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ITERAERmE) 0 0 1,252 6,275 1,982 15,609 4510 38,139 4565 43557 3,601 37,315 3,197 26,121 1,999 17,798 933 9,629 531 3457 0 0
FitiX
(EmEH)
IEREmGL) 0 0 182 438 182 1,449 942 6,855 1,533 14,882 2,028 19,967 894 6,618 565 2,352 68 687 43 258 0 0
B IR B () & ot 4,382 31,826 4,550 35,803 4,128 37,434 6,916 54,902 5327 48,820 3,961 40,253 3,699 29,438 2,638 22,268 1,468 13,722 570 3,683 0 0
B iy = L) & af 2,426 13,457 2,506 20,002 1,930 17,544 1,772 14,278 2,081 20,678 2,431 24,013 1,176 7,686 565 2,352 68 687 43 258 0 0
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& 412 HEDETEH
187 158 258 35 H 458 5% H 65 H 158 85 H 95 H 1058 115§
BRASH/A | REBE [BRREH/A | REH/EF |BRRXEH/A | BEWE |BXEH/A | REWE |BRXEHA | KEWE | BRASH/A | REB/E [BRAEH/A | REH/F |BRXEH/A | BEWE |BXEHA | REeWE |BRXEHA | KE/E | RASH/A | RE8E
Gi[X
(B2IED) TEREm 1,281 10,018 793 7,168 208 2,496 208 2,112 160 1,920 270 1,352 13 26 130 231 111 422 110 416 0 0
=] =
GIE IERAER 1,447 7,394 1,828 14,347 161 204 0 0 0 0 0 0 0 0 20 88 128 149 0 0 0 0
(LErFILD) ' ' ' '
GHIX
(BEIE) TEREMm 1,686 13,563 705 8,100 770 1,992 0 0 0 0 0 0 13 26 130 205 110 213 110 208 0 0
=] =
Gt
(LBl rL@) | TERER 1,514 11,959 1,782 20,749 1,836 19,846 1,982 14,512 470 1,141 0 0 0 0 13 91 128 204 2 6 0 0
I 5,928 42,934 5108 50,364 2,975 24,538 2,190 16,624 630 3,061 270 1,352 26 52 293 615 477 988 222 630 0 0
1877 158 2% H 35 H 45 H 5% H 65 H 1%H 85 H 9% H 108 1148
RAEH/A | BEB/EF |BRREH/A | REH/TF |BRRXEH/A | BEWE |RXEHA | KEWE |BRXEHA | KEWE | BRAEH/A | BEH/EF |RAEH/A | REH/F |BRXEH/A | REWE |RXEHA | KEeWE |RRAEHA | KE/E | RAEH/A | BRE8/TF
Hit X
ED) TEREm 0 0 599 821 1,186 6,119 270 1,292 0 0 0 0 0 0 13 39 128 180 110 421 0 0
=
(;;%%) TERAER 60 161 2,253 16,751 2,253 16,075 2,253 23,040 2,607 24,848 2,607 30,854 842 5,238 151 642 33 169 128 142 1 4
E W E W5 : 60 161 2,852 17572 3,439 22,194 2,523 24,332 2,607 24,848 2,607 30,854 842 5,238 164 681 161 349 238 563 1 4
- 15 H 2% H 3% H 458 5% H 6FH 158 8 H 9% H 108 =]
RABH/A | RER/EF [RREH/A | RER/F |SXEH/A| RER/EF |SXEH/A | REeWEF |RASHA| REWE | RASH/A | RER/TF [RAEE/A | RER/F |SXEH/A | REREF |RRXEGH/A | Rel/F |RASHA | Ke¥/EF | RASE/A | BE8/ETF
(IJJEEEE«)L@) IERER 0 0 1,675 5,286 2,901 27,403 2,736 30,554 2,722 32,664 2,752 21,690 470 4,382 161 907 130 269 2 14 1 1
(_';]_;,'g'i—‘,g) IEREMR 0 0 2,372 10972 540 2,332 0 0 0 0 0 0 0 0 13 39 251 687 238 345 1 1
= 2]
(mgfﬁljz;»@) TER=Em 1,537 9,161 3,677 35,765 2,598 27,482 2,584 31,008 2,584 31,008 2,614 20,724 470 5,330 174 1,566 33 149 140 384 1 4
E R B & 1,537 9,161 7.724 52,023 6,039 57217 5,320 61,562 5,306 63,672 5,366 42414 940 9712 348 2512 414 1,105 380 743 3 6
1875 158 2% H 35 H 45 H 5% H 65 H 1%H 85 H 9% H 108 ]
RAGH/A | REB/F | BAEGH/A | RER/E |BXEH/A | REH/E |SRABHA | BEH/F | RAGH/A | Rel/F | RAXGH/A| REREF |BXEH/A | RERE |BXEH/A | REWE |SAEH/A | KEW/F [RRXEGH/A | Ra/F |SXEGH/A | ReE
(;;%'ZD ) TEREMm 1,053 4816 4,414 40,002 4414 51,879 5,136 59,619 5,122 39,358 2,882 22917 470 4,982 164 1,371 148 314 154 433 1 4
E B =@ & i 1,053 4,816 4414 40,002 4414 51,879 5136 59,619 5122 39,358 2,882 22917 470 4,982 164 1,371 148 314 154 433 1 4
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# 34-13) EREDETAH
BT 155 2% R 3%H 4% H 5% H 6% H 1%H 8% H 9% H 108 [REE]
RREH/A | REWE [RREF/A | LER/EFE | RRXEH/A | RER/TF | BRXEH/A | BEWE | RXEH/A | BEWE [RRXEH/A | KEWE [RREH/A | LEH/EF | RXEH/A | BER/E | RXEH/A | REWE | RKXEH/A | REE [RRXE¥/A | KE/E
Kih X
(LERY 2 LD) ITERER 1,851 8,396 2,541 27,577 2,644 28,742 2,630 31,560 2,630 31,560 2,660 14,566 470 4525 174 1,117 20 102 132 181 1 4
?ﬁt‘ﬁg—‘ TEASER 0 0 1,186 5,716 270 652 0 0 0 0 0 0 0 0 0 0 110 547 128 149 0 0
(BZED)
Kih X
(WEr @) | TEREM 0 0 1,828 8,281 2,518 27,557 2,621 28,820 2,607 31,284 2,607 23,441 470 5376 200 1,444 130 286 2 14 1 5
B I B & 3 1,851 8,396 5555 41574 5432 56,951 5251 60,380 5237 62,844 5267 38,007 940 9,901 374 2,561 260 935 262 344 2 9
1877 15 H 2% H 3%FH 4% H 548 648 1%£8 8FH 9% H 1048 115EH
RREH/A | REWE [RRKEA | LER/EFE | RRXEH/A | RER/EF | BRXEH/A | BEW/E | RXEH/A| BEWE [RRXEM/A | KEME [RREH/A | LER/EFE | RXEH/A | RER/E | RXEH/A| REWE | RKXEH/A | REE [RXE¥/A | KE/E
(%_'%E@) ITERER 0 0 1,276 7,665 840 9,560 840 6,851 254 2,901 205 615 160 320 283 2,227 155 864 112 841 110 318
= =]
LihX
(WEF x| TERER 60 347 1,105 9,988 1,370 12,041 1,471 14,694 842 2,371 43 43 0 0 0 0 20 72 130 172 2 6
Li X
(EEIED) TERER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 111 111 698 2,630 128 197 110 209
Litn X
(WEF xLe) | TERER 0 0 0 0 0 0 60 343 2,304 20,282 2,541 29,378 2,528 26,388 470 4,066 161 612 128 168 1 5
E bk B & = 60 347 2.381 17.653 2.210 21,601 2.371 21,888 3,400 25554 2,789 30,036 2.688 26.708 864 6,404 1.034 4178 498 1.378 223 538
275 [EE] 2% H 3%H 4% H 548 648 15 H 8% H LEE] 105 H 1158
RAEH/A | REWE [RREHA | LEH/EF | RRXEH/A | RER/EF | BXEH/A | BEN/E | RXEH/A | BEWE [RRXEM/A | KEWE [RREH/A | LEH/E | RXEH/A | RER/EF | BRXEH/A | BEWE | RXEH/A | REWE [RRXEH/A | KEVE
(3"2%%) IERER 1,038 9,495 4414 33,265 4782 54,044 5,136 58,938 5,126 32,632 940 3,685 259 1,389 383 992 51 281 143 382 1 5
B IR & i 1,038 9.495 1414 33.265 4782 54,044 5136 58.938 5126 32.632 940 3,685 259 1,389 383 992 51 281 143 382 1 5
1875 158 2% R 3% H 4% H 5% H 6% H 1%H 85 H 9% H 105 § 1158
RAEH/A | REWE [RRKEA | LER/EFE | RRXEH/A | RER/EF | BRXEH/A | BEN/E | RXEH/A| BEWE [RRXEH/A | KEWE [RREH/A | LEH/EF | RXEH/A | BER/E | RXEH/A | RERE | RKXEH/A | REE [RXE¥/A | KEEF
(EN%ME%& ITERER 1,550 13,855 1,641 17,710 1,469 16,821 1,354 16,248 1,358 11,289 900 2433 37 306 41 346 22 117 0 0 0 0
B I = & 3 1,550 13,856 1,641 17,710 1,469 16,821 1,354 16,248 1,358 11,289 900 2,433 37 306 41 346 22 117 0 0 0 0
1877 15 H 2% 8 3%H 458 588 658 1%£8 FESE] LEE] 105 H 1148
RREH/A | REWE [RRKEA | LEH/E | RRXEH/A | RER/EF | RXEH/A | REW/E |SKEH/A| REWE [RRXEMA | KEWE |RREH/A | KEH/EFE | RXEH/A | RER/E | RXEH/A | REWE | RKXEH/A | REWE [RXE¥/A | KE/F
(30;5%) TERER 1,038 9273 1,883 14,959 1,867 22,383 2,233 24518 2,244 26,649 841 5,243 546 3,600 50 378 20 95 132 170 1 4
B Pk B & & it 1,038 9.273 1,883 14,959 1,867 22,383 2.233 24518 2.244 26,649 841 5243 546 3,600 50 378 20 95 132 170 [ 4
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